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1 FA IEAT IS E RO 39 35 74] 0.0 | 74.0 51BN K% JEE D BAGC 48 40 88/ 0.0 [88.0
20BkH — J\TFARCC 42 35 77| 0.0 [77.0 52|91 B — Jis EifE{ACC 46 42 88/ 0.0 [88.0
AT AN Jis J55 P CC 40 37 77] 0.0 [77.0 v— F&EFE 53 |JE . Hf— J&E D HiGC 45 43 88| 0.0 [88.0
4750 TERR JR S HLHECC 38 39 77] 0.0 | 77.0 b4 | fi ik MR i BRI BECC 45 43 88/ 0.0 |88.0
5 HEH ¥ ZERICC 38 39 771 0.0 | 77.0 55| ke HE =] J S RLEECC 44 44 88/ 0.0 [88.0
6kl JEDEGC 38 39 77) 0.0 | 77.0 56 [TEE D fit i BRI BECC 44 44 88| 0.0 /88.0
7= F FHt JEE D B.GC 41 37 78/ 0.0 | 78.0 57 M G Ji& D B.GC 44 44 88/ 0.0 |88.0
8|ILIF FHE Ji B PECC 39 39 78| 0.0 | 78.0 58|85 H HIR Jis EifE{ACC 42 46 88/ 0.0 [88.0
9k B il JEE D HAGC 43 36 79/ 0.0 |79.0 59 |BF i J E 100 42 46 88/ 0.0 [88.0
103+ KAk JEE D BLGC 42 37 79 0.0 [79.0 60| LIl BEIT Jix AL HECC 42 46| 88| 0.0 |88.0
1R H = Jis B PECC 39 40 79! 0.0 |79.0 61|Foc J¥E 25RICC 46 43 89| 0.0 /89.0
12| =3 5B J B PECC 38 41 79| 0.0 [79.0 62 FH 5 E 00 44 45 89/ 0.0 [89.0
13| MEA gk Z=FACC 38 41 79! 0.0 |79.0 63N B2 25RICC 44 45 89| 0.0 /89.0
14 E3E =th JEE D HAGC 38 41 79/ 0.0 |79.0 64|FEE K FAHGC 43 46 89/ 0.0 [89.0
15| H 5L Ji AR CC 41 39 80/ 0.0 |80.0 65| 0 INE JE&E D H.GC 42 47 89/ 0.0 |89.0
16| ik 1ERZ 5mICC 40 40 80| 0.0 [80.0 66 )11 EH JE&E D H.GC 47 43 90| 0.0 [90.0
17 i = s S HRLEECC 40 40 80| 0.0 |80.0 67| LIER F J\TFARCC 42 48 90| 0.0 |90.0
18|[ H IEVE 5mICC 41 40 81| 0.0 |81.0 68| H EIK J#E D HGC 41 49 90/ 0.0 |90.0
19 ATH R JE& D HGC 44 38 82| 0.0 |82.0 69 | 7EAT EL%h s AL BECC 49 42 91| 0.0 |91.0
20 LR & JEE D HGC 43 39 82| 0.0 [82.0 70| H # JE&E D B.GC 47 44 91| 0.0 |91.0
21| Fehl NS0 42 40 82/ 0.0 |82.0 1+ JI S HLE#ECC 47 44 91| 0.0 |91.0
22|l iz Ji B PECC 41 41 82| 0.0 [82.0 72| BCC Jis BRI EECC 46 45 91| 0.0 91.0
23| B BEE & D HGC 44 39 83| 0.0 [83.0 73| 1L sz Z=PCC 46 45 91| 0.0 91.0
24| FE H S J\TRCC 43 40 83| 0.0 |83.0 740 ER Z=PCC 45 46 91| 0.0 [91.0
25| Fhk i EE{ACC 42 41 83| 0.0 [83.0 T5|tEH T =P CC 45 46 91| 0.0 91.0
26| ER FHa EREICC 42 41 83| 0.0 [83.0 68K EF JE&E D B.GC 42 49 91| 0.0 |91.0
27 ||y H F5H JEE D H.GC 42 41 83| 0.0 [83.0 TR Fidh JUTFARCC 41 50 91| 0.0 /91.0
28 |BEJR F KA J&E D HGC 43 41 84| 0.0 [84.0 78|% )1 FHz TARHGC 47 45 92/ 0.0 192.0
20T, [BLAS Jis B PECC 42 42 84| 0.0 [84.0 79| I Jis s 5 A D 2R 45 47 92| 0.0 [92.0
30| PEJR 2% s BERICC 42 42 84| 0.0 [84.0 80"& H Y J S HLEECC 50 43 93] 0.0 [93.0
31IAH 2= JIRESEROBK 45 40 85/ 0.0 |85.0 SN 25RICC 49 44 93] 0.0 193.0
32| (g (& PN r 44 41 85| 0.0 |85.0 82| F5— Jis B PECC 46 47 93] 0.0 [93.0
33| B2 JE& D HGC 41 44 85| 0.0 |85.0 83 |YA Fe5k TARHGC 46 47 93] 0.0 193.0
34\ xR B s S RLEECC 40 45 85/ 0.0 |85.0 84|A&xH FHE T SR EECC 43 50 93] 0.0 [93.0
35dL)1l #H Ji EiEAACC 38 47 85/ 0.0 |85.0 85 |{R . F5HI| Jis 5P CC 44 50 94| 0.0 |94.0
36 154 HEA J& D HL.GC 46 40| 86| 0.0 |86.0 86|58 EF J= EfEAACC AT 48| 95| 0.0 |95.0
37| 8A DU JE& D HGC 44 42 86| 0.0 |86.0 87/ Wit JE& D HA.GC 46 49 95| 0.0 |95.0
38|24k H ABE JE D HGC 44 42 86/ 0.0 |86.0 88| TUA HEik J& D HLGC 44 51 95| 0.0 |95.0
39| #by LG = 5CC 43 43 86| 0.0 |86.0 89 |[if] FH == J\TARCC 43 52 95/ 0.0 | 95.0
40 EZR RA TARHGC 43 43 86/ 0.0 |86.0 DIt S:hl) 901 E=FH JAUTARCC 51 45 96| 0.0 196.0
41135 7K HERER = ECC 43 43 86/ 0.0 |86.0 91 |APr FESL TR HEGC 48 48 96/ 0.0 |96.0
4213 F HEE JE&E D HL.GC 42 44 86/ 0.0 |86.0 92| HH IR JI B PECC 52 45 97| 0.0 |97.0
43| BRI E JEE D HAGC 40 46 86| 0.0 |86.0 93| K| F % JA 5 PECC 51 46 97| 0.0 197.0
44 | K BEXRHE) ZFACC 46 41 87/ 0.0 |87.0 94| LK FEEsR JR B TECC 51 46 97| 0.0 |97.0
45| H R H—AR ZFACC 44 43 87/ 0.0 |87.0 95 | H AT ERER JI B PECC 48 49 97| 0.0 |97.0
46 | BEEE ik 2EFECC 43 44 87| 0.0 |87.0 96| —AFHL P — J\TFARCC 47 50 97| 0.0 |97.0
47 B8 g ZRECC 42 45 87| 0.0 |87.0 97 | 15— JALTFARCC 46 51 97/ 0.0 |97.0
481/NH SCHA JEDEGC 41 46 87| 0.0 |87.0 98 |[EH H IR B E M OZ 49 49 98| 0.0 |98.0
49 TEHE RE i SR HECC 40 47 87| 0.0 [87.0 99|11 F 7] JE B E{ace 47 51 98/ 0.0 198.0
50 22 Eh FEFECC 39 48 87| 0.0 |87.0 100|571 BeHI| Z=/3CC 52 A7 99| 0.0 |99.0
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101 A Bk J\TFRCC 48 51 99 0.0 ]99.0

102|548 B i B RLEECC 50 51| 101] 0.0 [101.0

103|fEH HEAT Ji 5 PECC 49 52| 101] 0.0 [101.0

104 %% 5 J B RLEECC 51 51  102] 0.0 [102.0

10522 H BF— THGC 53 50/  103] 0.0 [103.0

106|5 H KRR Z=RICC 53 50/  103| 0.0 [103.0

107 B4 fidt Z=FACC 49 55| 104] 0.0 [104.0

108 FHh PEsd Ji EsfE{ACC 49 56/ 105| 0.0 [105.0

109| A fdtFd JEE D HGC 53 53|  106] 0.0 [106.0

110 IRy 75— J B RLEECC 51 55| 106] 0.0 [106.0

111 R Ak THHGC 54 56/ 110] 0.0 [110.0
Ji B Jis 5 PECC NR
H5 Fofx = 5CC NR
I R J& D HGC R
0 #7ER 25PECC IR
B Z—B8 L EPEIACC K
K 7= Jis ERLEECC IR
oo fE— 5mICC K2
TR Jis BsAEAACC K
WRE Jhth JE D H.GC K
A= JE D HLGC /e
fHE = PACC R
H A JIs SR EECC K
KEH  HER JE& D HLGC K
EXA R Jis 5 PECC IR
(9N Jis L EECC R
AR R JE 7> HLGC /e
R[] Jis 5P CC IR
A I ESHRLEECC K
B 7 IS S HRLEECC KRG
Il sz Jis B PECC IR
AR A IS S FND AR K
S ) 25RICC R
INRII B Jis 5 PECC IR
RPN J&E D HGC IR
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